Calculus
2014

Integration
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Evalunate each indefinite integral.
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Evaluate each definite integral.
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For each problem, approximate the area under the curve over the given interval using 4 l¢
endpoint rectangles.

25) y=-x" 4+ 13; [-2,2]

26) y f+6: (4, 4]

27) y=-x+5; [-6,-2] 28) y=x"+2; [-1,3]

For each problem, approximate the area under the curve over the given interval using 4 ri
endpoint rectangles.
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31) y=—x"=2x+11; [-4,0] 32) y=—-x"+13; [-2.2]

For each problem, find the area under the curve over the given interval.
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Answers to Integration
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